

WELCOMETO







www.starwealths.com



VISION

We will always ensure engage in activities that will eradicate poverty by empowering our partners to move up to the next level in life.



HOW DOES CRYPTO WORK?



The company or organization that wants to promote its products, it offers its Affiliate Program. Now any other person like a blog or website owner joins that program, then the company or organization gives him any banner or link etc. to promote their products on his blog or website. Now in the next step, that person puts that link or banner on his blog or website in different ways. Now many visitors come to that person's blog or website. When a visitor clicks on that link or banner and reaches the website of the company or organization offering the affiliate program and buys something or signs up for a service, then that company or organization commissions him in return.

STARWEALTHS



The best and strongest plan of India has came. join as soon as possible and start work. 100% guaranteed plan that will never let you los





✓ Right Time. ✓ Right place. ✓ Right platform. ✓ Right Decision.







MISSION

To be dream achievers and a networker's network. Search out for innovative ways to build up our organization to achieve high quality of life.

ABOUT STAR WEALTHS

COMPANY LAUNCH DATE – 31st OF MARCH 2022

There is a different commission according to different products. This commission can be a percentage of the sale or even a certain amount. These products can be anything, from web hosting to clothing or electronics How we Work Best support for 24X7 daily, High-end diagnostic equipment and yearl update Best employees in the industry



A FFILIATE MARKETING

Cryto trading is a method of marketing in which a person promotes or recommends the products of another company or organization through one of his sources, such as a blog or website. In return, that company or organization gives some commission to that person. There is a different commission according to different products. This commission can be a percentage of the sale or even a certain amount. These products can be anything, from web hosting to clothing or electronics.

Director's Message



Mr. Gautam Singh Rawat

Director

"Starting together is the first step; keeping together is progress, and working together is a success."

Gautam Singh Rawat from Rajasthan Ajmer Has
Tremendous Networking Experience Of 10 Years also he
had Teaching Experience For 12 Years and in Finance Ltd
company Experience Of 6 Years Beyond Trading
Experience Of 5 Years Now he is Presently working as a
Teacher.

In marketing and networking he is doing a great job with having a store of marbles, granites and other stone art.

Welcome To Business POWERFULL & FAST EARNING PLATFORM





Our Working Sectors









FINANCE

FOREX TRADING

CRYPTO TRADING

The financial sector is a section of the economy made up of firms and institutions that provide financial services to commercial and retail customers. This sector comprises a broad range of industries including banks, investment companies, insurance companies, and real estate firms.

DEALS IN MARBLES AND GRANITE



Building monuments. Granite used in jewellery. Granite used in fireplace mantle and floor. Granite used in bathroom skins, shelves, tabletops, basins



PACKAGES

PACKAGES	GROWTH %	AMOUNT	PER MONTH	UPTO MONTHS	TOTAL PROFIT
₹ 2000	0.38 %	₹ 7.6	₹ 167.2	24	₹ 4012
₹ 4000	0.38 %	₹ 15.20	₹ 334.4	24	₹ 8025
₹ 6000	0.38 %	₹ 22.80	₹ 501.6	24	₹ 12038
₹ 8000	0.38 %	₹ 30.40	₹ 668.8	24	₹ 16051
₹ 10000	0.40 %	₹ 40	₹ 880	24	₹ 21120

RE-TOPUP CAN BE DONE BY SAME PACKAGE OR UPGRADED PACKAGE ONLY AFTER EXPIRY OF ID

BEFORE EXPIRY OF ID MEMBERS CAN UPGRADE THEIR ID BY 10,000 PACKAGE AMOUNT



TYPES OF BENEFITS



STAR WEALTH GROWTH

STAR WEALTH LEVELS

STAR WEALTH REWARDS

STAR WEALTH LEADERSHIP

STAR DOUBLE PACKAGE PROFIT



LEVEL PROFITS



LEVELS	INCOME	DIRECTS
1	5 %	1
2	4 %	1
3	3 %	1
4	2 %	0
5	1%	1
6	0.70%	0
7	0.60%	0
8	0.50%	1
9	0.40%	0
10	0.30%	0



NOTE* 5 ACTIVE REFERRALS OF ANY PACKAGE ARE MANDATORY TO GAIN UPTO 10TH LEVEL INCOME.



STAR WEALTH LEADERSHIP

GET 1 % FROM OF EVERY PAYOUT AMOUNT, BY ALL YOUR REFERRALS



STAR ROYALTY







www.starwealths.com

BANK DETAILS





HOLDER NAME
Gautam Singh

Account number 40841313554

Branch Thanwala

IFSC SBIN0032066



TERMS & CONDITIONS

- > Payout on 10th, 20th, 30th of every month
- > MINIMUM INCOME DOUBLE OF PACKAGE AMOUNT
- ➤ After Expiration Of Id, Members will have to Re-topup their id's within same day, other wise income will be lapsed
- > Deductions
- ►10 % admin
- **➢** Growth will be off on Saturdays and Sundays
- >1 mobile no. only 1 id can be placed (1 KYC for 1 id)





CONTACT US





(+91) 8104508865



info@starwealths.com



www.starwealths.com

Contact Us

When you have questions, we're here to help.



















YOU

